

## (n, k)-FACTORIALS

SHAHID MUBEEN, ABDUR REHMAN

ABSTRACT. In this paper, we define  $(n, k)$ -factorial and  $(n, k)$ -double factorial for  $n \in \mathbb{N}, k > 0$ . We apply these definitions to construct a  $k$ -Meclaurin series involving these newly defined factorials. Also, we express some previously proved results in the form of  $(n, k)$ -factorial and discuss some new results satisfying the classical results.

### 1. INTRODUCTION

The factorial notation  $(!)$  was introduced by Christian Kramp in 1808 for positive integers and is frequently used to compute the binomial coefficients. The relationship between classical gamma function and ordinary factorial is  $\Gamma(n) = (n-1)!, n \in \mathbb{N}$ . Also, gamma function is defined for all real numbers except  $n = 0, -1, -2, \dots$ . After words, the German mathematician Leo Pochhammer defined shifted (rising) factorial, which was named as Pochhammer's symbol and is given by (See [1-2])

$$(\alpha)_n = \begin{cases} \alpha(\alpha+1)(\alpha+2)\dots(\alpha+n-1), & n \in \mathbb{N} \\ 1, & n = 0, \alpha \neq 0. \end{cases} \quad (1.1)$$

It follows that  $(1)_n = n!$  and for  $n, m \in \mathbb{N}$ , we can derive the following expression for the rising factorial of a negative integer.

$$(-n)_m = \begin{cases} \frac{(-1)^m n!}{(n-m)!}, & 1 \leq m \leq n \\ 0, & m \geq n+1. \end{cases} \quad (1.2)$$

In literature, definition of double factorial and its application in Meclaurin series expansion is present (See [3]). Thus, we have the definition of double factorial as

$$n!! = \begin{cases} n(n-2)(n-4)\dots 6.4.2 & \text{if } n \text{ is even} \\ n(n-2)(n-4)\dots 5.3.1 & \text{if } n \text{ is odd} \\ 1, & \text{if } n = 0, -1 \quad ; \quad (-2n)!! = \infty, n \in \mathbb{N}. \end{cases} \quad (1.3)$$

Recently, Diaz and Pariguan [4] introduced the generalized  $k$ -gamma function as

$$\Gamma_k(x) = \lim_{n \rightarrow \infty} \frac{n! k^n (nk)^{\frac{x}{k}-1}}{(x)_{n,k}}, \quad k > 0, x \in \mathbb{C} \setminus k\mathbb{Z}^- \quad (1.4)$$

---

2000 *Mathematics Subject Classification.* 35A07, 35Q53.  
*Key words and phrases.* Factorials, Pochhammer's Symbol.  
 ©2014 Ilirias Publications, Prishtinë, Kosovë.  
 Submitted May 27, 2014. Published September, 2014.

and also gave the properties of said function. The  $\Gamma_k$  is one parameter deformation of the classical gamma function such that  $\Gamma_k \rightarrow \Gamma$  as  $k \rightarrow 1$ . The  $\Gamma_k$  is based on the repeated appearance of the expression of the following form

$$\alpha(\alpha + k)(\alpha + 2k)(\alpha + 3k)\dots(\alpha + (n - 1)k). \quad (1.5)$$

The function of the variable  $\alpha$  given by the statement (1.5), denoted by  $(\alpha)_{n,k}$ , is called the Pochhammer  $k$ -symbol. Thus, we have

$$(\alpha)_{n,k} = \begin{cases} \alpha(\alpha + k)(\alpha + 2k)(\alpha + 3k)\dots(\alpha + (n - 1)k), & n \in \mathbb{N}, k > 0 \\ 1, & n = 0, \alpha \neq 0. \end{cases} \quad (1.6)$$

We obtain the usual Pochhammer symbol  $(\alpha)_n$  by taking  $k = 1$ . Also, the researchers [5-9] have worked on the generalized  $k$ -gamma function and discussed the following properties:

$$\Gamma_k(\alpha k) = k^{\alpha-1}\Gamma(\alpha), \quad k > 0, \alpha \in \mathbb{R} \quad (1.7)$$

$$\Gamma_k(nk) = k^{n-1}(n-1)!, \quad k > 0, n \in \mathbb{N} \quad (1.8)$$

$$\Gamma_k\left((2n+1)\frac{k}{2}\right) = k^{\frac{2n-1}{2}} \frac{(2n)!\sqrt{\pi}}{2^n n!}, \quad k > 0, n \in \mathbb{N} \quad (1.9)$$

$$\Gamma_k(k) = 1 \quad (1.10)$$

$$\Gamma_k(x) = k^{\frac{x}{k}-1}\Gamma\left(\frac{x}{k}\right). \quad (1.11)$$

## 2. Main Results

**Definition (2.1):** For  $n \in \mathbb{N}, k > 0$ , we define  $(n, k)$ -factorial as

$$(n, k)! = nk(nk - k)(nk - 2k)(nk - 3k)\dots 3k.2k.k \quad (2.1)$$

$$\Rightarrow (n, k)! = k^n n(n-1)(n-2)(n-3)\dots 3.2.1 = k^n n!. \quad (2.2)$$

From the above definition of  $(n, k)!$ , we can easily prove that

$$(nk, k)! = k^n (nk)! \quad (2.3)$$

$$(n + a, k)! = k^n (n + a)!, \quad a \in \mathbb{R}, n \in \mathbb{N} \quad (2.4)$$

$$[(n + b)k, k]! = k^n [(n + b)k]!, \quad b \in \mathbb{R}, n \in \mathbb{N}. \quad (2.5)$$

Using the above results, we see that

$$(0, k)! = k^0 0! = 1, \quad (-n, k)! = \infty, \quad n \in \mathbb{N}, k > 0. \quad (2.6)$$

By Pochhammer  $k$ -symbol and relation (2.1), we get

$$(1)_{n,k} = \left(\frac{1}{k} + n - 1, k\right)!. \quad (2.7)$$

Here, we give some results already proved in literature (See [4]). These results can be written in the form of  $(n, k)$ -factorial as

$$\Gamma_k(x) = \lim_{n \rightarrow \infty} \frac{(n, k)!(nk)^{\frac{x}{k}-1}}{(x)_{n,k}}, \quad k > 0, x \in C \setminus kZ^- \quad (2.8)$$

$$\Gamma_k(nk) = (n-1, k)!, \quad k > 0, n \in \mathbb{N} \quad (2.9)$$

$$\Gamma_k\left((2n+1)\frac{k}{2}\right) = \frac{(2n, k)!}{2^n (n, k)!} \sqrt{\frac{\pi}{k}}, \quad k > 0, n \in \mathbb{N}. \quad (2.10)$$

In terms of classical gamma function and  $k$ -gamma function defined in [4], the  $(n, k)$ -factorial can be expressed as

$$(n, k)! = \Gamma_k(nk + k) = k^n \Gamma(n + 1), \quad k > 0, \quad n \in \mathbb{N}. \quad (2.11)$$

**Remarks:** If we use  $k = 1$ , we get  $(n, 1) = n!$ , which is the classical representation of the above results.

**Proposition (2.2):** For  $n, m \in \mathbb{N}, 1 \leq m \leq \frac{n}{k}, k > 0$ , we have

$$(-n)_{m,k} = \frac{(-k)^m \left(\frac{n}{k}\right)!}{\left(\frac{n}{k} - m\right)!}. \quad (2.12)$$

**Proof:** Definition of Pochhammer  $k$ -symbol gives

$$\begin{aligned} (-n)_{m,k} &= (-n)(-n+k)(-n+2k)(-n+3k)\dots(-n+(m-1)k) \\ &= (-1)^m k^m \left[ \frac{n}{k} \left(\frac{n}{k} - 1\right) \left(\frac{n}{k} - 2\right) \dots \left(\frac{n}{k} - (m-1)\right) \right] \\ \Rightarrow (-n)_{m,k} &= \frac{(-k)^m \left(\frac{n}{k}\right)!}{\left(\frac{n}{k} - m\right)!}. \end{aligned}$$

**Remarks:** In the relation (2.12) if  $m \geq \frac{n}{k} + 1, k > 0$ , then  $(-n)_{m,k} = 0$ .

**Definition (2.3):** For  $n \in \mathbb{N}, k > 0$ ,  $(n, k)$ -double factorial is defined as (if  $n$  is even of the form  $2n$ ),

$$\begin{aligned} (2n, k)!! &= 2nk(2nk-2k)(2nk-4k)\dots 6k.4k.2k \\ &= k^n 2n(2n-2)(2n-4)\dots 6.4.2 = k^n (2n)!! \end{aligned}$$

and (if  $n$  is odd of the form  $2n-1$ ),

$$\begin{aligned} (2n-1, k)!! &= (2nk-k)(2nk-3k)(2nk-5k)\dots 5k.3k.k \\ &= k^n (2n-1)(2n-3)\dots 5.3.1 = k^n (2n-1)!! \end{aligned}$$

Here, we give some useful results which justify the above definition of  $(n, k)!!$ .

$$(n, k)!! = 1, \text{ if } n = 0, -1 \text{ and } (-2n, k)!! = \infty, \quad n \in \mathbb{N}.$$

**Theorem (2.4):** For  $n \in \mathbb{N}, k > 0$ , classical gamma function  $\Gamma(x)$  and  $k$ -gamma function  $\Gamma_k(x)$ , the following expressions involving  $(n, k)$ -double factorial hold as

$$(n, k)!! \times (n-1, k)!! = (n, k)! \quad (2.13)$$

$$(2n, k)!! = k^n 2^n n! = k^n (2n)!! \quad (2.14)$$

$$(2n-1, k)!! = k^n 2^n \frac{\Gamma(n + \frac{1}{2})}{\Gamma(\frac{1}{2})} = 2^n \frac{\Gamma_k(nk + \frac{k}{2})}{\Gamma_k(\frac{k}{2})} \quad (2.15)$$

$$[-(2n+1), k]!! = (-1)^{-n} \frac{2}{(2n-1, k)!!}. \quad (2.16)$$

**Proof:** If  $n$  is even, then  $(n-1)$  is odd and vice versa, so

$$(2n, k)!! \times (2n-1, k)!! = (2n, k)!. \quad (2.17)$$

Replacing  $2n$  by  $n$ , we get the required result (2.13). To prove the relation (2.14), just use the definition of  $(n, k)$ -double factorial and then  $n!$  for even numbers  $n$ . For the relation (2.15), consider the following

$$\begin{aligned} (2n-1, k)!! &= (2nk-k)(2nk-3k)\dots 5k.3k.k \\ &= k^n 2^n \frac{\Gamma(n + \frac{1}{2})}{\Gamma(\frac{1}{2})}. \end{aligned}$$

Replacing  $\Gamma_k(x)$  by  $\Gamma(x)$ , from the relation (1.11), we can get the above result as

$$(2n-1, k)!! = 2^n \frac{\Gamma_k(nk + \frac{k}{2})}{\Gamma_k(\frac{k}{2})}.$$

For the relation (2.16), we use the equation (2.17) as

$$(2n-1, k)!! = \frac{(2n, k)!}{(2n, k)!!} = \frac{k^n (2n)!}{k^n 2^n n!} = \frac{(2n)!}{2^n n!} = \frac{\Gamma(1+2n)}{2^n \Gamma(1+n)}.$$

Replacing  $n$  by  $-n$ , the above equation gives

$$(-2n-1, k)!! = \frac{\Gamma(1-2n)}{2^{-n} \Gamma(1-n)} \Rightarrow [-(2n+1), k]!! = \frac{2^n \Gamma[-(2n-1)]}{\Gamma[-(n-1)]}.$$

Now, using the formula  $\frac{\Gamma(-n)}{\Gamma(-m)} = (-1)^{m-n} \frac{m!}{n!}$ , for singular points given in [1], we get

$$[-(2n+1), k]!! = (-1)^{-n} \frac{2^n (n-1)!}{(2n-1)!} = (-1)^{-n} \frac{2^n 2n(n-1)!}{2n(2n-1)!} = (-1)^{-n} \frac{2 \cdot 2^n n!}{(2n)!}.$$

Converting into  $(n, k)$ -factorial form and using (2.17), we have

$$[-(2n+1), k]!! = (-1)^{-n} \frac{2 \cdot 2^n n! k^n}{(2n)! k^n} = (-1)^{-n} \frac{2 \cdot (2n, k)!!}{(2n, k)!} = (-1)^{-n} \frac{2}{(2n-1, k)!!}.$$

**Definition (2.5):** If a function  $f$  is such that  $f, f', f'', \dots, f^{(n-1)}$  are continuous on  $[0, x]$  and  $f^{(n)}$  exists on  $(0, x)$ , then the Maclaurin's series expansion of the function  $f(x)$  is given by

$$f(x) = \frac{x^0}{0!} f(0) + \frac{x^1}{1!} f'(0) + \frac{x^2}{2!} f''(0) + \frac{x^3}{3!} f'''(0) + \dots + \frac{x^n}{n!} f^{(n)}(0) + \dots \quad (2.18)$$

Now, we define the Meclaurin series expansion of a function involving the  $(n, k)$ -factorial. We call this series Meclaurin  $k$ -series expansion and is defined as

$$f_k(x) = \frac{(xk)^0}{(0, k)!} f_k(0) + \frac{(xk)^1}{(1, k)!} f'_k(0) + \frac{(xk)^2}{(2, k)!} f''_k(0) + \dots + \frac{(xk)^n}{(n, k)!} f_k^{(n)}(0) + \dots \quad (2.19)$$

**Proof:** Replacing  $x$  by  $kx$  in the classical Maclaurin's series (2.18), we have

$$f(kx) = \frac{(xk)^0}{0!} f(0) + \frac{(xk)^1}{1!} f'(0) + \frac{(xk)^2}{2!} f''(0) + \dots + \frac{(xk)^n}{n!} f^{(n)}(0) + \dots \quad (2.20)$$

Setting  $f_k(x) = f(kx)$ , we see that

$$\begin{aligned} f'_k(x) &= k f'(xk), \quad f''_k(x) = k^2 f''(xk), \quad f'''_k(x) = k^3 f'''(xk), \quad \dots \\ \Rightarrow f_k(0) &= f(0), \quad f'_k(0) = k f'(0), \quad f''_k(0) = k^2 f''(0), \quad f'''_k(0) = k^3 f'''(0), \quad \dots \end{aligned}$$

Thus, equation (2.20) takes the following form

$$f_k(x) = \frac{(xk)^0}{0! k^0} f_k(0) + \frac{(xk)^1}{1! k} f'_k(0) + \frac{(xk)^2}{2! k^2} f''_k(0) + \dots + \frac{(xk)^n}{n! k^n} f_k^{(n)}(0) + \dots \quad (2.21)$$

As  $(n, k)! = k^n n!$ , so above equation gives the Maclaurin  $k$ -series expansion as

$$f_k(x) = \frac{(xk)^0}{(0, k)!} f_k(0) + \frac{(xk)^1}{(1, k)!} f'_k(0) + \frac{(xk)^2}{(2, k)!} f''_k(0) + \dots + \frac{(xk)^n}{(n, k)!} f_k^{(n)}(0) + \dots$$

**Examples (2.6):** Here, we give some examples of elementary functions in the form of Maclaurin  $k$ -series involving  $(n, k)!$ . The results so obtained will be the classical results, if original Maclaurin series is used.

**(2.6.1):** Find the Maclaurin  $k$ -series expansion of the exponential function  $e^x$ . Setting  $f_k(x) = f(xk) = e^{xk}$  implies

$$f_k(0) = 1, f'_k(0) = k, f''_k(0) = k^2, f'''_k(0) = k^3, \dots$$

Using these values in equation (2.19), we have

$$e^{xk} = \frac{(xk)^0}{(0, k)!} + \frac{(xk)^1}{(1, k)!} k + \frac{(xk)^2}{(2, k)!} k^2 + \frac{(xk)^3}{(3, k)!} k^3 + \dots$$

**(2.6.2):** Expansion by  $(n, k)!$  of the logarithmic functions  $\ln(1+x)$ . Setting  $f_k(x) = f(xk) = \ln(1+xk)$  implies

$$\ln(1+xk) = \frac{(xk)^1}{(1, k)!} k - \frac{(xk)^2}{(2, k)!} k^2 + \frac{(xk)^3}{(3, k)!} 2.k^3 - \frac{(xk)^4}{(4, k)!} 3.2.k^4 + \dots$$

**(2.6.3):** Expansion by  $(n, k)!$  of the trigonometric functions  $\sin x$  and  $\cos x$ . Setting  $f_k(x) = f(xk) = \sin xk$  and  $\cos xk$  respectively implies

$$\sin xk = \frac{(xk)^1}{(1, k)!} k - \frac{(xk)^3}{(3, k)!} k^3 + \frac{(xk)^5}{(5, k)!} k^5 - \frac{(xk)^7}{(7, k)!} k^7 + \dots$$

and

$$\cos xk = 1 - \frac{(xk)^2}{(2, k)!} k^2 + \frac{(xk)^4}{(4, k)!} k^4 - \frac{(xk)^6}{(6, k)!} k^6 + \frac{(xk)^8}{(8, k)!} k^8 - \dots$$

**(2.6.4):** Expansion by  $(n, k)!$  of the hyperbolic functions  $\sinh x$  and  $\cosh x$ . Setting  $f_k(x) = f(xk) = \sinh xk$  and  $\cosh xk$  respectively implies

$$\sinh xk = \frac{(xk)^1}{(1, k)!} k + \frac{(xk)^3}{(3, k)!} k^3 + \frac{(xk)^5}{(5, k)!} k^5 + \frac{(xk)^7}{(7, k)!} k^7 + \dots$$

and

$$\cosh xk = 1 + \frac{(xk)^2}{(2, k)!} k^2 + \frac{(xk)^4}{(4, k)!} k^4 + \frac{(xk)^6}{(6, k)!} k^6 + \frac{(xk)^8}{(8, k)!} k^8 + \dots$$

**Remarks:** In the above examples, if  $k$  is replaced by 1, we have the series expansion of the classical function (as  $(n, 1)! = n!$ ).

**Proposition (2.7):** Using  $(n, k)$ -double factorial, the general formula for the  $k$ -Maclaurin series expansion is given by

$$f_k\left(\frac{x}{2}\right) = \frac{(xk)^0}{(0, k)!!} f_k(0) + \frac{(xk)^1}{(2, k)!!} f'_k(0) + \frac{(xk)^2}{(4, k)!!} f''_k(0) + \frac{(xk)^3}{(6, k)!!} f'''_k(0) + \dots \quad (2.22)$$

**Proof:** To prove the series (2.22), we use the Maclaurin  $k$ -series defined in equation (2.21) as

$$f_k(x) = \frac{(xk)^0}{0!k^0} f_k(0) + \frac{(xk)^1}{1!k} f'_k(0) + \frac{(xk)^2}{2!k^2} f''_k(0) + \dots + \frac{(xk)^n}{n!k^n} f_k^{(n)}(0) + \dots$$

$$\Rightarrow f_k(x) = \frac{(xk)^0 2^0}{0!k^0 2^0} f_k(0) + \frac{(xk)^1 2^1}{1!k^1 2^1} f'_k(0) + \frac{(xk)^2 2^2}{2!k^2 2^2} f''_k(0) + \frac{(xk)^3 2^3}{3!k^3 2^3} f'''_k(0) + \dots$$

As  $(n, k)!! = k^n (2n)!! = k^n 2^n n!$ , so above equation becomes

$$f_k(x) = \frac{(2xk)^0}{(0, k)!!} f_k(0) + \frac{(2xk)^1}{(2, k)!!} f'_k(0) + \frac{(2xk)^2}{(4, k)!!} f''_k(0) + \frac{(2xk)^3}{(6, k)!!} f'''_k(0) + \dots$$

Replacing  $x$  by  $\frac{x}{2}$ , we get the required equation (2.22).

**Examples (2.8):** Now we express some elementary functions in terms of  $(n, k)!!$  by using the Meclaurin  $k$ -series expansion formula (2.22) in the form of the following examples.

**(2.8.1):** Expansion by  $(n, k)!!$  of the exponential function is given by

$$e^{\frac{xk}{2}} = \frac{(xk)^0}{(0, k)!!} + \frac{(xk)^1}{(2, k)!!} k + \frac{(xk)^2}{(4, k)!!} k^2 + \frac{(xk)^3}{(6, k)!!} k^3 + \frac{(xk)^4}{(8, k)!!} k^4 + \dots$$

**(2.8.2):** Expansion by  $(n, k)!!$  of the logarithmic functions  $\ln(1 + x)$ . Setting  $f_k(\frac{x}{2}) = f(\frac{xk}{2}) = \ln(1 + \frac{xk}{2})$  implies

$$\ln(1 + \frac{xk}{2}) = \frac{(xk)^1}{(2, k)!!} k - \frac{(xk)^2}{(4, k)!!} k^2 + \frac{(xk)^3}{(6, k)!!} 2.k^3 - \frac{(xk)^4}{(8, k)!!} 3.2.k^4 + \frac{(xk)^5}{(10, k)!!} 4.3.2.k^5 - \dots$$

**(2.8.3):** Expansion by  $(n, k)!!$  of the trigonometric functions  $\sin x$  and  $\cos x$  is given by

$$\sin(\frac{xk}{2}) = \frac{(xk)^1}{(2, k)!!} k - \frac{(xk)^3}{(6, k)!!} k^3 + \frac{(xk)^5}{(10, k)!!} k^5 - \frac{(xk)^7}{(14, k)!!} k^7 + \dots$$

and

$$\cos(\frac{xk}{2}) = \frac{(xk)^0}{(0, k)!!} k^0 - \frac{(xk)^2}{(4, k)!!} k^2 + \frac{(xk)^4}{(8, k)!!} k^4 - \frac{(xk)^6}{(12, k)!!} k^6 + \frac{(xk)^8}{(16, k)!!} k^8 - \dots$$

**(2.8.4):** Expansion by  $(n, k)!!$  of the hyperbolic functions  $\sinh x$  and  $\cosh x$  is given by

$$\sinh(\frac{xk}{2}) = \frac{(xk)^1}{(2, k)!!} k + \frac{(xk)^3}{(6, k)!!} k^3 + \frac{(xk)^5}{(10, k)!!} k^5 + \frac{(xk)^7}{(14, k)!!} k^7 + \dots$$

and

$$\cosh(\frac{xk}{2}) = \frac{(xk)^0}{(0, k)!!} k^0 + \frac{(xk)^2}{(4, k)!!} k^2 + \frac{(xk)^4}{(8, k)!!} k^4 + \frac{(xk)^6}{(12, k)!!} k^6 + \frac{(xk)^8}{(16, k)!!} k^8 + \dots$$

**Remarks:** In the above examples, if  $k$  is replaced by 1, we have the series expansion of the classical functions (as  $(n, 1)! = n!$ ).

**Note:** The newly defined  $(n, k)!$  can be extended up to a finite number of higher factorials as  $(n, k)!!!, (n, k)!_4, \dots (n, k)!_r$ .

**Acknowledgments.** The authors would like to thank the anonymous referee for his/her comments that helped us improve this article.

## REFERENCES

- [1] G. E. Andrews, R. Askey and R. Roy , *Special Functions Encyclopedia of mathemaics and its Application 71*, Cambridge University Press, 1999.
- [2] E.D. Rainville, *Special Functions*,The Macmillan Company New Yark (USA) 1960.
- [3] K. Kono, *On gamma function and multi factorial*,Allien's Mathematics (2003).
- [4] R. Diaz, and E. Pariguan, *On hypergeometric functions and k-Pochhammer symbol*, Divulgaciones Mathematics Vol, 15 No.2(2007), PP. 179-192.
- [5] C.G. Kokologiannaki, *Properties and inequalities of generalized k-gamma, beta and zeta functions*, International Journal of Contemp. Math Sciences, Vol.5, 2010, No. 14, PP. 653-660.
- [6] C.G. Kokologiannaki and V. Krasniqi, *Some properties of k-gamma function*. LE MATEMATICHE, Vol, LXVIII (2013), PP.13-22.
- [7] V. Krasniqi, *A limit for the k-gamma and k-beta function*, Int. Math. Forum, 5(2010), No. 33, PP. 1613-1617.
- [8] M. Mansoor, *Determining the k-generalized gamma function  $\Gamma_k(x)$ , by functional equations* , International Journal Contemp. Math. Sciences, Vol. 4, 2009, No. 21, pp. 1037-1042.
- [9] S. Mubeen and G. M. Habibullah, *An integral representation of some k-hypergeometric functions*, Int. Math. Forum, Vol. 7(2012), No.4, PP. 203-207.

SHAHID MUBEEN

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF SARGODHA, SARGODHA, PAKISTAN  
*E-mail address:* smjhanda@gmail.comcarvajal@im.ufrj.br

ABDUR REHMAN

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF SARGODHA, SARGODHA, PAKISTAN  
*E-mail address:* abdurrehman2007@hotmail.com